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LN-106
B.A. (Part-IIT) Examination, 2023
(New Course)
ECONOMICS
| Paper : Second | |
( Statistical Methods )
Time Allowed : Three Hours

Maximum Marks : 75

Note : Attempt all five questions. One question from each unit

is compulsory. All questions carry equal marks.
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j " Explain the Random Sampling method and write the
merits and demerits of the random sampling method.
[15]
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What is meant by Secondary Data? What are the
precautions you would keep in mind before using the even
marks compiled by secondary sources?
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UNIT-II / S5-Il
2. - Calculate Arithmetic mean : [15]
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am(nht)!w-zo 20-40 40-78| 70-120 | 120-200

F(m 4 10 26 8 2
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OR/ HYAT

Calculate median from the following data :
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UNIT-IIl / So-1l

3. Find the mean deviation from the following data : [15]

fe oifedl @ aney Reee s AR ¢

Marks No. of Students
(i) (eral ® deA
10-20 6

20-30 5

30-40 8

40-50 15

50-60 7
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OR! ¥eqar

Find the standard deviation from the following data :
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Marks (&%) | 0-10 {10-20]20-30] 3040 | 40-50

No. of Students = 29 23 84 10
(st %t wem) |

UNIT-IV / SBE-IV

4, What is rank correlation coefficient? State the merits and

demerits of Spearman's rank difference correlation
coefficient. How is it different from the correlation
coefficient of Karl Pearson? .- [18]
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From the following data, find the correlation coefficient
between the x and y variables by Karl Pearson method 3
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X y

17 | 12 241

18" 16.

19 14 -

19 11

20 18 .

20 19

21 22
UNIT-V / S8~V

From the following data, find out the Fisher's Ideal Index

for the year 2012-13 taking 2011-12 as the base year :

[15]

Prfufiae simet & af 2011-12 # oMUR af A &C
7§ 2012-13 3 g R 1 et e oy IS @

Year (ad) Year (7)
Commodity 201112 2012-13
(q@ Price | Quantity| Price | Quantity
() | (wem) | () | (em)

A 2 8 4 8

B 5. 10 6 5

C 4 14 5 10

D 2 19 2 13
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Write short ﬁotes on any two of the follbwing 3
Prafifee & & Rl & o ditra RuPril Rl
(i) Seasonal variation

At qRadH

(ii) Cyclical variation

b aRE
(iii) Problems in‘the construction of Index number
gaais Frtr % wEn
(iv) Us;es of Index Number
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